Exam 2: Ch 3 & 4 NAME ZZU%M&& Kot
Math 176, Precalculus, Section 6265

Spring 2007: Michael Orr
100 points. Show all work to receive full credit. You mayv use a calculator. CHECK YOUR WORK!!!!

1. (16 pts) Consider the polynomial P(x)=x*—2x* +5x* —-8x+4.
a) List all possible rational zeros of P(x).
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b) Find all rational and complex zeros of P(x). Use the quadratic formula if necessary.
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¢) Write the complete factorization of P(x).
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d) What is the remainder when P(x) is'divided by x+3. What is its significance?
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2. (22 pts) Consider the rational function R(x) = pERTyre - <5( T4 C\L“f.lj}
a) Find the x- and y-intércepts of R(x). ,
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b) Write an equation for each vertical and horizontal asymptote.
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¢) State the domain of }Q(x). |
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d) Graph R(x) by hand, using the above information and by plotting points. Make sure to
include all information from above (intercepts, asymptotes, and proper end behavior).
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3. (9 pts) For each of the following rational functions, write an equation for every vertical, horizontal
’ and/or slant asymptote. Only fill the boxes that apply, some boxes may remain empty!
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4. (8 pts) Below is s the graph of f(x)=2". On the same set of axes, graph g(x)=-2""+3 using

transformations.
e Describe the transformation in words.
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5. (9 pts) Simplify. Give an exact value for each. (NO DECIMAL approximations!!!)
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Formulas for this page:  A(?) = P(l ¥ i) A(t)="Pe" n(t)=ne’*  P(t)= Pe ™
n

6. (8pts) A sum of $5000 is invested at an interest rate of 8 ¥ % per year, compounded quarterly.
a) Find the amount of the investment after 4 years.
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b) After what period of time will the investment total $12,000?
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7. (12 pts) The half-life of palladlum-l 10 is 4 days. After 20 days a sample has been reduced to a mass of
0.375 g. PN J g
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b) Find a funcgion that models the mass remaining after£davs.
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¢)  What is the mass after 3 days?
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d)  After how many days will only 0.125 g remain?
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8. (16 pts) Solve each equation for x. Give your answer correct to two decimal places.
a) log 343=3 b) SInB3-x)=4
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ANSWERS MUST BE EXACT!!!!
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